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[1] #PCB 1,600 %21 %61
[1-1] &/ /7unbe 7 == )LJH 16 0.5 15
[1-2] /oo 7 x==/L}H 86 6 18
[1-31 Moo 7 c=/Lf 270 7 21
[1-4] ThF /oo 7 ==/L}H 450 4 12
[1-4-11 =275 —PCBDYH 3.3 44-Th7/aue 7=/ (#77) 16 0.2 0.4
[1-4-2]1 =/ FF—PCBDHH 344' 5-Th7/nonE 7 =)L (#81) 1.6 0.1 0.3
[1-5] XA /opbe 7 =/)VfH 380 1 3
[1-5-1] =/ FF—PCBDHH 23,3 44-~_ Ao 7 ==L (#105) 28 0.1 0.3
[1-5-2]1 =/ FF—PCBDHH 2.344' 5- XA /ooe 7 ==L (#114) 1.3 0.09 0.22
[1-5-3] =/ FF—PCBDHH 2.3'44' 5-~ A /oo 7 ==/ (#118) 64 0.2 0.6
[1-5-4] =/ FF—PCBDHH 2'.34,4' 5-~ Ao 7 ==L (#123) 1.7 0.1 0.3
[1-5-5] =/ FF—PCBMDHH 3,3'4,4' 5-~Hrnn 7 ==L (#126) 2.2 0.1 0.3
[1-6] ~X Voo 7 =)L fH 270 1 3
[1-6-11 =/ FF—PCBDHH 23,3 44' 5-~FHrone 7=/l (#156) 8.3 0.07 0.18
[1-6-2]1 =/ FF—PCBDHH 23,3 44 5-~F oo 7=/ (#157) 2.7 0.1 0.3
[1-6-3] =/ FF—PCBDHH 2,344 55 -~F oo 7 ==/ (#167) 3.6 0.09 0.23
[1-6-4] =/ 7F—PCBDHH 3,344 55 -~F /oo =/ (#169) 0.8 0.1 0.3
[1-71 ~T X /oo 7 =)V 73 0.4 1.2
[1-7-11 =/ FF—PCBDHH 223344 5-~F X oo 7 ==L (#170) 11 0.2 0.5
[1-7-21 =/ FF—PCBDHH 2.2'344' 55-~7 X oo 7 ==/ (#180) 18 0.3 0.9
[1-7-3] =/ FF—PCBDHH 23,3 44'55-~7 X oo 7 ==L (#189) 0.86 0.08 0.2
[1-81 A 74 /oo 7 ==L ¥H 15 0.2 0.4
[1-91 /) Zuoe 7 -=/)LHA 7.1 0.3 0.7
[1-10] T AHZunE 7 ==L 12 0.1 0.3
[21 HCB (~F% %o~ 1) 500 2 6
[6] DDT¥H 780 %3.2 ’%8.8
[6-1] p,p'-DDT 150 0.2 0.4
[6-2] p.p'-DDE 340 0.6 1.8
[6-3] p,p’'-DDD 220 14 4.2
[6-4] o.p'-DDT 26 0.2 0.4
[6-51 o.p'-DDE 9.2 0.3 0.8
[6-61 0,p’-DDD 36 0.5 1.2
[8] ~7 4 u)VHH 5.2 %1.0 X2.7
[8-1] ~TFH# L tr(1.0) 0.5 1.5
[8-2] cis -~T F /)L TARF LR 4.2 0.2 0.5
[8-3] trans -~7 H /)L TRF UK nd 0.3 0.7
[11-1] ¢ -HCH 35 0.8 2.4
[11-2] B-HCH 58 0.3 0.9
[11-3] y-HCH (B4 : UV T) 7.5 0.9 2.7
[11-4] 6-HCH 17 0.1 0.4
14 RV T aeP 7 = —T7 VHE (R FEEDLAHI0ETOLD) 52,000 %120 %370
[14-1] ThF 7 uEP T =L —F LS tr(19) 9 27
[14-1-112,2' 4 4- T 77 a7 =)L =—F )L (#47) tr(13) 9 27
[14-2] AT aEy T =)L o—T )LFH 19 2 6
[14-2-11 2,2' 4.4' 5- _LZ 7 BEY T =)L =—F /)L (#99) 10 2 6
[14-3] ~FX VT ey 7= )L —TF )LFE 53 2 5
[14-3-11 2,2' 4,4'5,5'- ~F P T 0ET =)L T—F )L (#153) 6 2 5
[14-3-2]1 2,2' 4,4'5.6'- ~F P T OET =)L T—TF )L (#154) 4 1 3
[14-4] ~THZ T ' T =)L =—F )LfH 33 6 16
[14-4-1]1 2,2'3,3/4,5'6- ~F X T OEP T = =)L T—F )L (#175) tr(10) 6 16
[14-5] AV Z 7 a® 7 2=/l =—F LI 170 4 12
[14-6] /7ol =)L =—F )LFH 2,900 20 60
[14-71 TH7aEd T =)L =—F)L 49,000 80 240
[15] ~L 7 ) A a2 A )L ik B (PEQS) 79 2 5
[16] ~v 7 A a4 2 [k (PEOA) 17 5 11
[17] & rouX P 580 0.8 2.4
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